Math 262 — 6 October 2022

BINOMIAL DISTRIBUTION
X~B’m('r\_, P) means X is a h'mom‘aal rv  that counfs the

humber of successes in M trials, each with success pf‘okaLiliJr/ P
pmf: P(X=x)= <2> p* (1-p)™  for x=0,12,.,n

mean:  E(X)=np vociance: Var(X)= np (L-p)

Poisson DisTRIRUTION

X“‘Po‘ssm\(//t> nc X C,ouf\'l‘s H\a numker of occurrences in

o Poisson process with  mean JL Occurrences  per time interval,

b B(Xem)= A e k20825

mean' E(X)-‘-/& variance : VOF(XX:/L

Rinomial (n,p3 IS aPPPoximQ+el7 Foisson (n)o)

If nois large  and p s small, fhen  b(x; n,;e)x]o(x)/a) with w=np.
kinomial pmf 2 T Poisson  pmf

This approximation is good if nz100 and 2p=10

Hisi—or]u«“}; ﬂ\e, binomial pvmc Was hard To 60mpu+e, so the Poissbn
distribution voas ouseful fHor approxirwod—inj binomial probabilities.
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